Dear Rising Form Il Geometry Students,

Attached to this letter is a summer work packet for you. The packet is divided into
three sections — June, July and August to encourage you to do work throughout
the summer rather than saving it for the last weeks of August. Practicing
concepts at regular intervals will help you retain the information better and
reduce some of the dreaded summer slide.

This packet is highly recommended, and Mr. Meyer will be collecting it at the start
of the school year to see who completed it. After a brief period of review,
Geometry students will take an assessment of their Algebra | skills, and the
content in this packet will help keep those skills sharp over the summer.

We hope you enjoyed your journey through Algebra | this year!

Best,

Mr. Meyer and Mr. Romero



Name

Rising Form Il Geometry Summer Work
June Problems
Linear Equations
Solve for the variable in the following equations.

1. 7m—3 = —38 2. 12=18—§c
3. 12(v+3) = 72 4.5y +13—7y =3
5. 10x —4x =8(x—7)—8(x—1) 6. 4n—7(n—2)—11 =31 —n)




Quadratic Equations

9.¢2—12c+20=0 10. 2x? + 28x = —66

11. m?+16m+12 = -6 12. 7n% + 10n = 23

Linear Functions

13. Find the slope of the line going through: (12, -2) and (5, 14)

14. Graph the equation: y — 4 = g(x +1)

Name the slope:

Name the point given in the equation:
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15. y = EX - Z
slope
y-intercept

standard form

x-intercept

slope of a perpendicular line

16. Write the equation of a line in slope-intercept form that passes through (-8, 12) and is
parallel to 2x — 3y = 24.

Systems of Equations
Solve each system using substitution or elimination.
17 {—20x+8y=8

"(—10x + 5y = 15



—2x+ 6y =-38
18{ 4x + 3y =31

3x—9y =12
19. { x—3y =4



Name

Rising Form Il Geometry Summer Work
July Problems
Linear Equations
Solve for the variable in the following equations.

1. 77=-2p—>5 2.3c+6=-1
8 4
3.§(n—5)=20 4. —9w — 18+ 23 +w =37
5. 2—-8(x+7)=3(x—-7) 6. 5(7—v)+8v=2v+5(1+v)+6v
m 8 8 d+9
[ 8 T



Quadratic Equations

9. w?+7w—-3=0-3 10. 8x% +96x + 228 = 12

11. m?+10m —94 = -6 12. 3x%2—-70 = —11x

Linear Functions

13. Find the slope of the line going through: (2, %) and G,g)

14. Graph the equation: 5x — 2y = —20

X — intercept

y —intercept
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15. 8x + 3y = 48
x-intercept
y-intercept

Slope-Intercept Form

slope of a parallel line

16. Write the equation of a line in slope-intercept form that passes through (-6, -10) and is
perpendicular to 9x — 2y = 36.

Systems of Equations

Solve each system using substitution or elimination.
6x —6y = —12

17. {—18x + 18y = 36



x+3y=-15
18. {—Bx —4y =20

19 { 4x+y=-21
" (—4x+8y=-24



Name

Rising Form Il Geometry Summer Work
August Problems
Linear Equations
Solve for the variable in the following equations.

1. 14 =8p — 18 2. 2n+in=-2

3.49—-y) =34 4. 16p —14p + 2+ p =37

5. 32x—=5)—(x+7)=9(x—8) + 15 6. —7(v+4)=-5v+4(-7—-v)
7 m-3_ 7 8 2 _ 10

T2 10 " r+5 149



Quadratic Equations

Solve each quadratic equation. Make sure you practice factoring, square roots, completing the
square and the quadratic formula.

9. 5m?+22m =15 10. 4x% —10 = —12

11. m? —18m + 68 = —4 12. 3p? +2x =4

Linear Functions

13. Find the slope of the line going through: (—5,;) and G, 7)



14. Graph the equation: 5x + 3y = 30
10
X — intercept by
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15. 7x + 3y =42
x-intercept
y-intercept

Slope-Intercept Form

slope of a parallel line

16. Write the equation of a line in slope-intercept form that passes through (2, 9) and is
perpendicularto 3x +y = 12.



Systems of Equations

Solve each system using substitution or elimination.
—16x — 6y = 28

17'{ 8x+4y=-8

—21x =21 — 42y
18'{ 6x —12y = —6

—x+5y=-7
19.{ —dy =4



Name

Accelerated Algebra Summer Work

Linear Equations

Solve for the variable in the following equations.

1 7m-3=-38
+310 43
..-; A= :‘3‘_—_-3

i i

v s
= P

S | i
{
Mm="5
3. 12(17-1—_;)_:12_‘
L VL
v+3=
-3 -3

v=73

5. 10x—4x=8(x—7)—8(x—-1)

(o7 =85-5b=Foc +¥

b = ~4&
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x="8
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June Problems

2.12 =18 —2¢
~\&T—|g y

-c 3
2y = -1 -2
: =C X =

)
A~

|5=C
4. 5y+13-7y=3
=7u +13=72
37 12 =12
-7 ~ 1
45
6. an—-7n—-2)—-11=3(1-n)
Uu-Tn+14 -1l =2 3-3n
-3 +2 = 3-3n
+__3_D [ +3n0

3=3

all real numbers

"3')( —1},
’X" 28 < 3D
+2&



Quadratjc Equations

( Qg' < ~12c+20=0 10. 2% + 28x = —66
\ 'D')(--Q'_"H -0 L+ W%+ b =0
( = » “ -
— = 10 or L o pvw+3320 o or |l
c«Q\ (7 +3) (1) =0 (ol
)é%yﬁ’ 11. m?4+16m+12= -6 12. 7n? +10n = 23 o
+llom < = =& =% -0z \W Cﬂt'ﬁj

‘,“ \ o~ é‘ - ,._‘.r
\-r’/""'g.} -\}'..@

. =9+ L
= "33V 2.0

nA 1,13 of

Linear Functions

13. Find the slope of the line going through: (12, -2) and (5, 14)

H‘\'lq_ .,—(‘3-.:. -_Lh

" -
= -\2 7
14. Graph the quation: y—4= -z-(x +1) '.o1' :
Name the slope: /7' -
Name a point on the line: (- ,[ 4 l f :: -
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y-intercept ~ "8’){ <+ 1L0u = -

-~ ~ -
standard form 8‘5 - @a = 5 8x -~ ’I_D.J -
x-intercept 5’ 8

slope of a perpendicular line

-5

16. Write the equation of a line in slope-intercept form that passes through (-8, 12) and is
parallel to 2x — 3y = 24.

e
T -ayemax bl y-r=F(x+e)
5’_ z -F 3 2 2
37 + 3 + 36
3 3
- X 2
Y=3x* 3
Systems of Equations

Solve each system using substitution or elimination.

—20x +8y =8
) 7.A46. é—le +5y = 151‘7—)

e

P

"LDé'i/ +'gj = ¥

L0 "'0_1/}11'-39 (L() “)
_35: -1l
Y=l

10x #8300 =8

5 =%
-10% f&a &%

- O = =~ &0
~ =4

-——



gy f2x 6= a0y fx + A3 = 3
4x+3y=:3: y __q - 3{
Ny e 9
— +7 ]
15y =745 —
w“g qy:?ﬁ
K= [0

(10,-3)

ﬁ’}s, {3x—9y=12

"{x—-3y=4
fﬁ_' = g /'-J"L{

3(354-“\\ - C}j = (o~
Cfﬁ + |k “6@ = [
1 =121
M‘)tmﬂ'e {7 mar j 5o/u4iaf£
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Accelerated Algebra Summer Work
July Problems
Linear Equations
Solve for the variable in the following equations.

1. 77==2p-5 2.2c+6="-
#s 45 -

L‘
z
_S..l"-l'? .g -?-"C..'. -%\r"s__/
-2 -1 3 ¥ 2

23%;(n —5) =20x3 4. —9w—18+23+w =37
- = -%W +%=’ 237
n-LSS (12 =S —S
(n-= b% ) ¥ =32
¥ "%
5. 2-—8(x+7)=3(x—7) 6. 5(7—v) +8v=2v+5(1+v) +6v
> S -Slo 23xc -2l 35 -Sv 4t = Ly + S+ 5v bV
Jated R ,:i{ 353 = v 4D
=Szl =Y -$"3v -3y -5
2 2 -
it A
= 20 = |0
23zl @ S TS
- &
7_-"—:-:13:2 8.§=1i—2
Tz m+12 8d-72 = od +2Y
—Eeq ~¥M ~led+72 ~ld T2

Mmz=TL 2d*| 26



Quadratic Equations

9w+ 7w —3=¢_
0-3 10. 8x2 + 96x + 228 = 12

— 3 43 —r o
rA
o™ +TLo= O 1oy + 2 =
(Lo +N= T +“£§>—’\é R
(=00 7 Wi+ 27 20 (K e) ot
11. m2+10m;‘79$=-;%'+ 12.%—70:—11:: q;?ii

2 | - -
L )00 425 = X425 Al -10=0

M
N 5 e I EVIE -4 B0

mM+S =\ 2{3)
/’_,.-——_——--‘ :.-__..... +-»- e N
TmE STV ) = -z G -n?3
Linear Functions - (o T e
13. Find the slope of the line going through: (2,22 and (2 5 Nz N
imuesopeo-j’z_jnegomg roug ( t_,)and (z's) 3 o 7
__—--——"--—- - -:-'cz—- - -ZK (-2) = L{
'z.« ‘2«

14. Graph the equation: 5x — 2y = —20

X —intercept ‘ —L,I O )

y —intercept (O ID




15. 8x + 3y = 48 Fxt 35-’- 4%

x-interceptf LPFD I % = —Z_x +.u_<§
y-intercept ! 0, |(_o5 - ? 3 3
- "+

Slope-Intercept Form &

slope of a parallel Iine“ !:5 3: —3’\’( + \(9

16. Write the equation of a line in slope-intercept form that passes through (-6, -10) and is
perpendicular to 9x — 2y = 36.

L 'Y | +0= F(x+t)

“Zy= “e +3L e
23 -z 2 '_"g' g% ‘%
Yz Ix -1 3 -30:;_

p q
M= = "2 T34
’Pcrpenahwlar Q—_ XTI
‘DPQ{ - q- —
Systems of Equations

Solve each system using substitution or elimination.
(6x — 6y)= —12*3
167> 18x + 18y = 36

| - ‘j '3(9
£ - €% -H% s

0=0

in«fn'&e(j many =0 |U‘L|'Dn5
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) —3x—4y =20 5-\5 IX”‘S('SX—IS
3‘7(‘3‘6[\\57 Yy =10 o 1o
+US -4 = = O
s v
Sy =2 -0 10,~
S (0,7
B=7>
B 4x+y=-21
*ﬂwi by -5 =2
‘jﬂ:'_li_’?_ +S _+5
7’ _5‘7 4y ==l

(’H‘) *5>



Name

Accelerated Algebra Summer Work
August Problems

Linear Equations

Solve for the variable in the following equations.
1 1é=8P“13 2 %n+%n=—%§-
+| +1R
- | 2 o =l :
32—':@- _8'):“ +3gn S { ‘\\
2 Xyl = “2X % -
— \Sx %’n N S ST N= ,_\__.—LZ— -
k=P | S 225
> ' =St{ 4 16p—14p+2+p =37 |
- =3 -
__%t ey 20 ?;p-%-?_ =377
-2 -2
-1
8- 2p=33
X 3

-4
2
7) = 9(x —8)+ 15 6. —7(v +4) = —5v+4(=7— )

g 3(2x—5)—(x+
Looc-'l"a‘?(-—';:‘?gql-\-\"b ~Tv-28 = =Sv -2§ -4y
Sy -1L=z9% - 27 “Tr-2% = =9, -2%
SXEAE] s v

vy =0
7. ’"2'3—-17-0- 8. ;}5:;%
io{-3) = \4 ‘i’(r-yalﬁ - \D(r-\-S)
g2 =11 Qe 48| = (Dc+50
30 *:: /:j(,"?é.?ﬁr- =D
- |on = . _
o \? 2=
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Quadratic Equations

Solve each quadratic equation. Make sure you practice factoring, square roots, completing the
square and the quadratic formula:

9. 5m?+22m =15

Em*+llm = (5=0 410 +lo

.Bmluem\-:am 15 =0 oo —
Ben(m=3) 2N+ =3
(Sen- Y(+S) = O N __Ji
_ 2 - |
=g e 5 10 Salu‘*!'\bf\

. m? — 18m + 68 = —4 Jd ;o 12 ¢+ 2x =4
M=% +7L =0 ‘%’2 Bty =4=0
(M *-Lo)(m-rz,) =0 /

"2 2T -H(3)(-4)
mf-(a or\'Z. 2(3)

Xz =154 o O.87

13. Find the slope of the line going through: (-—5, 1) and (—, 7)

Linear Functions

n- 1 o 2

3 N o 3 20
—— = i - "-_)‘. -
CRE) ki 37177
2 2 —:’-3—



14. Graph the equation: 5x + 3y = 30

x = intercept (0 D

y —intercept D lO

15. 7x+3y =42

x-intercept ‘a 0

y-intercept ( O|H )

Slope-Intercept Form M %1- + H
slope of a parallel line /3

16. Write the equation of a line in slope-intercépt form that passes through (2, 9) and is
perpendicularto 3x +y = 12.

b-’- “3x+I1L
-3
'PEfpma\Acular SHL‘
y-1= 3(x-2)




Systems of Equations
Solve each system using substitution or elimination.

16 {—16x — 6y =128

1(8x + 4y = —8).
~\y -loy 21 TA+YL =8
\ = Yx+2y =7
+ ramy e -1t -4
2,.3‘-‘-\?* ?15’32.
B:(é X=—Y
4, )

—21x = 21 — 42y
17. { 6x — 12y = —6

7« | \ 1H0
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o 4+ 0 =
LefgE i) =
5/«’3 A+l =1
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